P1
l 1 2 |
DIO_Tester3 GNDj Bll 3 : : 4 BI17 1GND
DIO Tester3 REPEAT(A,1,32) Bl2 5 o o 6 BI18
DIO Tester2 BI3 7 o o 8 BI19
h Bl4 9 e o 10  BI20
BI5 11 o o 12 BI21
BI6 13 ® o 14  BI22
BI7 15 o o 16 BI23
BI8 17 ® 18 BI24
BI9 19 o o 20 BI25
&l > REPEAT(BI) REPEAT(BO) [~ ES g:ﬁ) gé o o 5421 E:gg
® ©
Bl12 25 o o 26  BI28
BI13 27 e o 28  BI29
Bl14 29 o o 30 BI30
BI15 31 ® o 32  BI31
BI16 33 o o 34  BI32
VEX1 35 o o 36  VEX1
37 o o 38
39 o o 40
MALE
P2
GND| Lle o2 |GND
RS VEX1 I 38§ 2 = K g ggi; I
I A
B B3 7 | g ¢l 8 BOI
BO4 9 o o 10 BO20
RS BO5 11 e o 12 BO21
i VEX2 BO6 13 14 BO22
AN BOT 15 | g @ | 168023
BO8 17 o o 18 BO24
BO9 19 o o 20 BO25
BO10 21 o o 22 BO26
BO11 23 ® o 24 BO27
BO12 25 o o 26 BO28
BO13 27 o o 28 BO29
BO14 29 e o 30 BO30
BO15 31 ® o 32 BO31
BO16 33 o o 34 BO32
VEX2 35 o o 36 VEX2
37 38
9 1® ®Tw
o ©
FEMALE
Title
Digital 1/O Testerl
Size Number Revision
B D1200297 1
Date: 4/6/2012 [ Sheetl of 3
File: C:\Users\..\DIO_Tester1.SchDoc | Drawn By: Paul Schwinberg

3 4 5 6




5 6
PN
LED lens cap
VCC
Title
Digital 1/O Tester2
Size Number Revision
B D1200297 1
Date: 4/6/2012 [ Sheet2 of 3
File: C:\Users\..\DIO_Tester2.SchDoc | Drawn By: Paul Schwinberg
2

6




P3
TP1 TP2 EXTEXC 1
VCC 2
I I GND 3 VCC
GNDGND PN1 connector
Newark
10B6045
H1 Handle, 3" PN2 Front Panel
H2 Handle, 3" D1200429-v1
Newark PN3 Rear Panel
2779008
H3 Ferrule D1200430-v1
H4 Ferrule
H5 Ferrule
H6 Ferrule PN5 IDC header
Mouser Newark
534-9121 73K3943
M1 #6-32 3/8" flat PN7 IDC header
M2 #6-32 3/8" flat Newark
73K3943
M3 #6-32 3/8" flat PN6 DB37 cable
M4 #6-32 3/8" flat Digi-Key

H7VWH-3706G-ND
McMaster-Carr
91099A215

H7 Standoff M-F PN12 Banana jack PN13 Banana jack PN14 Jack screw

H8 Standoff M-F Newark Newark PN15 Jack screw
39F1574 39F1575
H9 Standoff M-F PN? Banana jack PN16 Jack screw
\ | |
H10  Standoff M-F Newark PN17 Jack screw
39F1574
H1l  Standoff M-F PN18 Jack screw
H12  Standoff M-F Newark
80K5431
H13  Standoff M-F H19 Standoff F-F M5 M4-8mm, flat M11  M4-8mm, flat
\ | | | |
H14  Standoff M-F H20 Standoff F-F M6 M4-8mm, flat M12  M4-8mm, flat

\ | | | |
H15  Standoff M-F H21 Standoff F-F M7 M4-8mm, flat M13  M4-8mm, flat

\ | | | |
H16  Standoff M-F H22 Standoff F-F M8 M4-8mm, flat M14  M4-8mm, flat

\ | | | |
H17  Standoff M-F H23 Standoff F-F M9 M4-8mm, flat M15  M4-8mm, flat

\ | | | |
H18  Standoff M-F H24 Standoff F-F M10  M4-8mm, flat M16  M4-8mm, flat

Newark Newark McMaster-Carr
56K3066 56K3039 91420A218
Title
Digital 1/0O Tester3
Size Number Revision
B D1200297 1
Date: 4/6/2012 [ Sheet3 of 3
File: C:\Users\..\DIO_Tester3.SchDoc | Drawn By:  Paul Schwinberg

1 2 3 4 5 6




